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4 T VLGRS SR/ (LT 3.25 0. 00 0. 00 1.15 87.0 0.0 0. 87. g7.0|7 *7 7V MR
153 16~  15. 3.25 0. 00 1.00

4 T VLR SR/ LT 3.25 0. 00 0. 00 .15 103.0 0.0 0. 103. 190. 0| 7 A7 7V Rk
154 0~ 15 3.25 0. 00 1.00

4 ] VLR SR/ LT 3. 25 0. 00 0. 00 1.15 90. 0 0.0 0. 90. 980, 0|7 A7 7 /v MR
155 0~ 15 3.25 0. 00 1.00

4 ] LR SR L BT 3.25 0. 00 0. 00 0.40|  100.0 0.0 0. 100. 380, 0|7 A7 7 /v MR
156 0~ 15 3.95 0. 00 1.00

0 ] LR SR L BT 3.95 0. 00 0. 00 0.40|  108.0 0.0 0. 108. 488, 0|7 A7 7 v M
157 0~ 15 3.95 0. 00 1.00

4 ] LS SRCRF /I LT 3.25 0. 00 0. 00 0. 40 93.0 0.0 0. 93. 581,07 A7 7V ML
158 0~ 15 3.25 0. 00 0.75

54 00 UL G5 ORI/ LT 3.25 0. 00 0. 00 0. 40 93.0 0.0 0. 93. 674, 0|7 27 7 /v MR
159 0~ 16 3.25 0. 00 0.75

545 0 WL B SRR /) L T 3. 50 0. 00 0. 00 0. 40 98. 0 0.0 0. 98. 770.0| 7 A7 TV AL
6.0 0~ 16 3. 50 0. 00 0. 80

4 ] VLIRS SR/ (LT 3. 50 0. 00 0. 00 0. 40 94. 0 0.0 0. 94. 866, 0| 7 7/ Mk
16. 1 0~ 16 3. 50 0. 00 0. 80

4 ] VLGRS SR/ LT 3. 50 0. 00 0. 00 0.60|  113.0 0.0 0. 113. 979, 0|7 A7 7 /v M
6.2 0~ 16 3. 50 0. 00 0. 80

4 ] VLR HER /N LT 3. 50 0. 00 0. 00 0. 60 84. 0 0.0 0. 84. 1,063. 0|7 27 7V ke
6.3 0~ 16 3.50 0. 00 0. 80

4 VLR R/ (LT 3. 50 0. 00 0. 00 0. 20 99. 0 0.0 0. 99. 1,162, 0|7 A7 7V Rk
6.4 0~ 16 4.20 0. 00 0.90

0 ] LR SR L BT 3.50 0. 00 0. 00 0.20 95.0 0.0 0. 95. 1, 257,07 A7 7V L
6.5 0~ 16 4.20 0. 00 0.90

4 ] LS HRORT /I LT 3.85 0. 00 0. 00 0.45|  100.0 0.0 0. 100. 1,357.0|7 27 7V Rl
6.6 0~ 16 4.00 0. 00 0. 80
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e 3.85 0. 00 0. 00 0. 45 98. 0 0.0 0. 98. 1,455, 0|7 *7 7V M=
6.7 0~ 1. 0 4.00 0. 00 0. 80

4 T VLR SR/ LT 3. 50 0. 00 0. 00 0. 50 97.0 0.0 0. 97. 1,552, 0|7 27 7V Rk
6.8 0~ 16 0 3. 50 0. 00 1.20

4 ] VLR SR/ LT 3. 50 0. 00 0. 00 0. 50 97.0 0.0 0. 97. 1,649, 0|7 27 7V Rk
6.9 0~ 1T 0 3.50 0. 00 1.20

4 ] VLR SR/ LT 3.95 0. 00 0. 00 0. 45 97. 0 0.0 0. 97. 1,746, 0| 27 7V ke
170 0~ 17 0 3. 30 0. 00 2. 65

0 ] LR SR L BT 3.95 0. 00 0. 00 .10 103.0 0.0 0. 103. 1,849, 0|7 A7 7V PaiLe
17.1 0~ 17 0 3.95 0. 00 1.30

4 ] LS SRCRF /I LT 4.60 0. 00 0. 00 1.10 93.0 0.0 0. 93. 1, 0420|727 7V R
17.2 0~  17. 0 4.90 0. 00 1. 30

54 00 UL G5 ORI/ LT 4.60 0. 00 0. 00 1.10 99. 0 0.0 0. 99, 2,041. 0|7 *7 7 /v Mk
173 0~ IT. 0 4.90 0. 00 1. 30

[ VRIS BRORR /)N (L HT 3.75 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 2,141, 0|7 A7 T h#i%e
174 0~  IT. 0 3. 80 0. 00 3. 20

] LR HORR I LT 3.75 0. 00 0. 00 1.10|  106.0 0.0 0. 106. 9,247, 0|7 27 7 /v Ml
175 0~  IT. 0 3.75 0. 00 1.30

4 ] VLGRS SR/ LT 3.25 0. 00 0. 00 L.40[  103.0 0.0 0. 103. 2,350, 0|7 7 7 /v Mk
176 0~  I7. 0 3. 30 0. 00 2. 80

] LR SO L BT 3.25 0. 00 0. 00 .10 104.0 0.0 0. 104. 9,454, 0|7 27 7 /v M
17.7 0~ 1T 0 3.25 0. 00 1.30

4 VLR R/ (LT 3.75 0. 00 0. 00 1.10 10. 0 0.0 0. 10. 9,464, 0|7 X7 7 /v M
17.8 0~  1T. 10 3.75 0. 00 0. 60

4 VLB R/ (LT 3.75 0. 00 0. 00 1.30 1.0 0.0 2. 3. 9,467.0|7 X7 7 /v M
17.8 10~  17. 13 3.75 0. 00 0. 60

4 ] LS HRORT /I LT 3.75 0. 00 0. 00 1.10 72.0 0.0 0. 79. 2,539, 0|7 X7 7 /v Ml
17.8 13~ 1T. 0 3.75 0. 00 0. 60
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4 T VLGRS SR/ (LT 3.75 0. 00 0. 00 1.10]  106.0 0.0 0.0 106.0] 2,645.0|7 *7 7V M=
17.9 0~ 180 0 3.75 0. 00 0. 60

4 T VLR SR/ LT 3.25 0. 00 0. 00 1.00 98. 0 0.0 0.0 98.0| 2,743 0|7 A7 7 /v Mk
18.0 0~  18.1 0 3.30 0. 00 1. 40

4 ] VLR SR/ LT 3.25 0. 00 0. 00 1.00 91.0 0.0 0.0 or.0| 2,834 0|7 A7 7V M
18. 1 0~  18.2 0 3.25 0. 00 1. 40

4 ] VLR SR/ LT 3.90 0. 00 0. 00 0.65|  102.0 0.0 0.0 102.0| 2,936 0|7 A7 7 /v M
18.2 0~  18.3 0 3.90 0. 00 1.15

4 VLB SR/ (LT 3.90 0. 00 0. 00 0. 65 70. 0 0.0 0.0 70.0|  3,006.0|7 27 7 /v M
18.3 0~ 183 70 3.90 0. 00 1.15

4 ] LS SRCRF /I LT 3. 90 0. 00 0. 00 1. 40 1.0 0.0 6.0 70| 301307 A7 7V ML
18.3 70~  18.3 77 3.90 0. 00 1. 50

1 [ VR 5% SRR /)N (L HT 3.90 0. 00 0. 00 0.65 16.0 0.0 0.0 16.0 3,020,077 7V h %
18.3 77~ _ 18.4 0 3.90 0. 00 1.15

[ VRIS BRORR /)N (L HT 3.25 0. 00 0. 00 0.90 96. 0 0.0 0.0 96. 0 3,125.0|7 *7 7 h#i%e
18.4 0~ 185 0 3.30 0. 00 0. 90

4 ] VLIRS SR/ (LT 3.25 0. 00 0. 00 0.90|  100.0 0.0 0.0 100.0| 3,205 0|7 27 7 /v Ml
18.5 0~ 186 0 3.30 0. 00 0.90

4 ] VLGRS SR/ LT 3.25 2. 50 0. 00 0. 40 97.0 0.0 0.0 o7.0| 3,322 0|7 A7 7 /v Mk
18.6 0~  18.7 0 3. 30 0. 00 0. 60

4 ] VLR HER /N LT 3.25 2.50 0. 00 0. 40 99. 0 0.0 0.0 99.0| 3,421 0|7 A7 7 /v M
18.7 0~  18.8 0 3.30 0. 00 0. 60

4 VLR R/ (LT 3.25 2.70 0. 00 0.30 98.0 0.0 0.0 98.0| 3,519, 0|7 A7 7 /v M
18.8 0~ 189 0 3. 30 0. 00 0. 60

4 VLB R/ (LT 3.95 2.70 0. 00 0.30]  108.0 0.0 0.0 108.0| 3,627, 0|7 A7 7V M
18.9 0~  19.0 0 3. 30 0. 00 0. 60

54 0 UL 55 ORI/ LT 3.25 2.50 0. 00 0.30 86. 0 0.0 0.0 86.0|  3,713.0|7 27 7V Pl
19.0 0~  19.1 0 3. 30 0. 00 0.70
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e 3.25 2. 50 0. 00 0.30]  100.0 0.0 0. 100. 3,813.0| 7 * 7 7 /v M
19. 1 0~ 19 3.30 0. 00 0. 70

4 T VLR SR/ LT 3.25 2. 30 0. 00 0.70 97.0 0.0 0. 97. 3,910, 0|7 27 7 /v Ml
9.2 0~ 19, 3. 30 0. 00 1.10

4 ] VLR SR/ LT 3. 25 2. 30 0. 00 0.70 97.0 0.0 0. 97. 4,007, 0|7 27 7 /v M
19.3 0~ 19. 3.30 0. 00 1.10

4 ] LR SR L BT 3.25 2. 50 0. 00 0.40|  100.0 0.0 0. 100. 4,107, 0|7 A7 7 /v M
9.4 0~ 19. 3. 30 0. 00 0.70

0 ] LR SR L BT 3.95 2. 50 0. 00 0. 40 98.0 0.0 0. 98. R
195 0~  19. 3. 30 0. 00 0.70

4 ] LS SRCRF /I LT 3.25 2. 40 0. 00 0.80] 108.0 0.0 0. 108. 4,313, 0|7 27 7 /v Ml
196 0~ 19 3. 30 0. 00 0.95

54 00 UL G5 ORI/ LT 3.25 2. 40 0. 00 0. 80 90. 0 0.0 0. 90. 4,403, 0|7 A7 7 /v Mk
19.7 0~ 19 3. 30 0. 00 0.95

[ VRIS BRORR /)N (L HT 3.50 3.00 0. 00 0. 60 107.0 0.0 0. 107. 4,510. 0|7 A7 T h#i%e
19.8 0~ 19 3. 50 3. 60 0. 50

] LR HORR I LT 3.50 3. 00 0. 00 0.60] 104.0 0.0 0. 104. 4,614, 0|7 27 7 /v Ml
199 0~ 2. 3. 50 3. 60 0. 50

4 ] VLGRS SR/ LT 3.25 0. 00 0. 00 0.40|  100.0 0.0 0. 100. 4,714, 0|7 27 7 /v M
20.0 0~ 20 3. 30 2. 50 1.00

] LR SO L BT 3.25 0. 00 0. 00 0.40] 1010 0.0 0. 101. 4,815, 0|7 27 7 /v M
20. 1 0~ 2. 3.30 2. 50 1.00

4 VLR R/ (LT 3.95 0. 00 0. 00 0.95 90. 0 0.0 0. 90. 4,905, 0|7 27 7 /v M
20.2 0~ 20 3. 30 2. 50 1. 20

0 ] LR SR L BT 3.95 0. 00 0. 00 1. 50 85.0 0.0 0. 85. 4,990, 0|7 A7 7 /v M
20.3 0~ 20 3. 30 0. 00 1.20

4 ] LS HRORT /I LT 3.25 0. 00 0. 00 1.50 95.0 0.0 0. 95. 5,085, 07 %7 7 /v ML
20.4 0~ 20, 3. 30 0. 00 1.20
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e 3.25 0. 00 0. 00 0.70 92.0 0.0 0. 92. 5,177.0| 7 * 7 7 /v M
20.5 0~ 20 0 3.30 2. 50 0. 80

4 T VLR SR/ LT 3.25 0. 00 0. 00 0.60|  101.0 0.0 0. 101. 5,278.0|7 7 7 /v Ml
20.6 0~ 20 0 3. 30 2. 50 0. 70

] LB SO L BT 3.25 0. 00 0. 00 0.00]  100.0 0.0 0. 100. 5,378.0|7 7 7 /v Ml
20.7 0~ 20 0 3.30 2.00 0. 50

4 ] VLR SR/ LT 3.95 0. 00 0. 00 0. 00 95. 0 0.0 0. 95. 5,473.0|7 * 7 7 /v M
20.8 0~ 20 0 3. 30 2.00 0. 50

0 ] LR SR L BT 3.00 0. 00 0. 00 2.00] 115.0 0.0 0. 115. 5,588, 0|7 7 7 /v Ml
209 0~ 2l 0 3.00 1.50 0.75

4 ] LS SRCRF /I LT 5. 05 0. 00 0. 00 2. 50 99. 0 0.0 0. 99, 5,687.07 %7 7 /v ML
2.0 0~ 21, 0 3. 50 2. 80 1. 20

54 00 UL G5 ORI/ LT 3.50 0. 00 0. 00 1.00 45.0 0.0 0. 45. 5,732.0|7 27 7 /v MR
21.1 0~ 21 45 3. 50 0. 00 1.07

[ VRIS BRORR /)N (L HT 3.50 0. 00 0. 00 1.00 1.0 0.0 691. 692. 6,424.0|7 27 TV h#i%e
211 45~ 21 43 3. 50 0. 00 1.00

] LR HORR I LT 3.50 0. 00 0. 00 1.68 58.0 0.0 0. 58. 6,482. 0| 7 7 /v Ml
21.8 43~ 21 0 3. 50 0. 00 1.80

4 ] VLGRS SR/ LT 3. 50 0. 00 0. 00 1.68 99. 0 0.0 0. 99. 6,581. 0|7 7 7 /v Mk
2.9 0~ 22, 0 3. 50 0. 00 1.80

4 ] VLR HER /N LT 3. 50 0. 00 0. 00 1.75 98. 0 0.0 0. 98. 6,679. 0|7 X7 7 /v Mk
22.0 0~ 22 0 3.50 0. 00 1. 70

4 VLR R/ (LT 3. 50 0. 00 0. 00 1.75 99. 0 0.0 0. 99. 6,778. 0|7 X7 7 /v M
22. 1 0~ 22 0 3.50 0. 00 1. 70

0 ] LR SR L BT 3.50 0. 00 0. 00 3.30 65.0 0.0 34. 99. 6,877. 0|7 X7 7 /v M
9.9 0~ 22, 0 3. 60 3.75 1.55

4 ] LS HRORT /I LT 3.50 0. 00 0. 00 3.30]  364.0 0.0 228 592. 7,469. 0|7 A7 7 /v M
22.3 0~ 22, 0 3. 60 3.75 1.55
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e 3.25 0. 00 0. 00 1.66 0.0 0.0 99, 99.0|  7,568.0|7 X7 7V M=
22.9 0~ 23 0 3.30 1.53 1.48

4 T VLR SR/ LT 3.00 0. 00 0. 00 1.50 0.0 0.0 99. 99.0|  7,667.0|7 27 7 /v Mk
93.0 0~ 23 0 3. 00 1.70 0. 70

] LB SO L BT 3.00 0. 00 0. 00 1. 50 22.0 0.0 78, 100.0| 7,767 0|7 A7 7 /v M
23. 1 0~ 23 0 3.00 1. 70 0.70

4 ] LR SR L BT 3.00 0. 00 0. 00 0.85 77.0 0.0 22. 99.0| 7,866 0|7 X7 7 /v M
93.2 0~ 23 0 3.10 1. 50 0.85

0 ] LR SR L BT 3.00 0. 00 0. 00 0.85 99. 0 0.0 1. 100.0| 7,966, 0|7 27 7 /v M
93.3 0~ 23 0 3. 10 1.50 0.85

4 ] LS SRCRF /I LT 3. 00 0. 00 0. 00 0.70]  100.0 0.0 0. 100.0| 8, 066.0|7 27 7V Pl
23.4 0~ 23 0 3. 00 1.10 0. 50

54 00 UL G5 ORI/ LT 3.00 0. 00 0. 00 0.70 98.0 0.0 0. 98.0| 8, 164.0|7 *7 7V Mk
23.5 0~ 93 0 3. 00 1.10 0. 50

[ VRIS BRORR /)N (L HT 3.05 0. 00 0. 00 1.80 101.0 0.0 0. 101.0 8,265.0|7 *7 7 h#i%e
23.6 0~ 23 0 3.10 1.70 0. 70

] LR HORR I LT 3. 05 0. 00 0. 00 1.80 98. 0 0.0 0. 98.0| 8 363.0|7 X7 7V Ml
923.7 0~ 23 0 3.10 1.70 0. 70

4 ] VLGRS SR/ LT 3.00 0. 00 0. 00 1.10 98. 0 0.0 0. 98.0| 8 461.0|7 X7 7/v Mk
93.8 0~ 23 0 3. 00 1.75 0.75

] LR SO L BT 3.00 0. 00 0. 00 1.10]  100.0 0.0 0. 100.0| 8 561.0|7 A7 7 /v M
23.9 0~ 24, 0 3.00 2.00 0.75

] LR SR L BT 3.00 0. 00 0. 00 0. 65 78.0 0.0 0. 78.0| 8 639.0|7 27 7 /v MR
24.0 0~ 24, 78 3.00 2.00 0.70

0 ] LR SR L BT 3.00 0. 00 0. 00 0. 65 24.0 0.0 0. 24.0| 8,663 0|7 X7 7 /v M
24.0 78 ~ 24, 0 3.00 2.00 0.70

4 ] LS HRORT /I LT 3.00 0. 00 0. 00 0. 65 98. 0 0.0 0. 98.0| 8 761. 0|7 A7 7/V Pl
24. 1 0~ 24 0 3. 00 2. 00 0. 70
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it VLR B RR /N (LT 3. 00 0. 00 0. 00 0. 65 96. 0 0.0 0.0 96.0 8,857. 0/ * 7 7 /v M
24.2 0 ~ 24.3 0 3. 00 1.75 0. 60

4 T VLR SR/ LT 3.00 0. 00 0. 00 0.65|  100.0 0.0 0.0 100.0|  8,957.0|7 A7 7 /v Mk
24.3 0 ~ 24. 4 0 3. 00 1.75 0. 60

A VLR BRI (LT 3. 00 0. 00 0. 00 0. 50 99. 0 0.0 0.0 99.0 9,056, 0|7 7 7 /v Ml
24.4 0 ~ 24.5 0 3.10 1.85 0. 60

[ IEL R BRI LT 3. 00 0. 00 0. 00 0. 50 80. 0 0.0 7.0 87.0 9,143, 0|7 A7 7 /v M
24.5 0 ~ 24.5 87 3.10 1.85 0. 60

e o) LA R 5 3.00 0. 00 0. 00 0. 50 0.0 0.0 12.0 12.0 9,155.0|7 27 7 L
24.5 87 ~ 24.6 0 3.10 1.85 0. 60

ol A B 3.00 0. 00 0. 00 0. 55 95. 0 0.0 4.0 99.0 9,254, 0|7 X7 7 /v Ml
24. 6 0 ~ 24.7 0 3.00 2. 00 0. 80

4 R B B 3.00 0. 00 0. 00 0.55 98.0 0.0 0.0 98.0| 9,352 0|7 A7 7 /v Mk
24.7 0 ~ 24.8 0 3. 00 2. 00 0. 80

B[] SR AR R T 3.05 0. 00 0. 00 1.15 100. 0 0.0 0.0 100. 0 9,452. 0|7 *7 T h#i%e
24.8 0 ~ 24.9 0 3. 00 1.75 1.05

B ] VLB B S T 3.05 0. 00 0. 00 1.15 79.0 0.0 24.0 103.0 9,555. 0|7 7 7 /v Ml
24.9 0 ~ 25.0 0 3. 00 1.75 1.05

40 D UL R 5 3.00 0. 00 0. 00 1.15 95. 0 0.0 0.0 95.0| 9,650.0|7 27 7/v Mk
25.0 0 ~ 25. 1 0 3. 00 1.85 0. 85

) VR AR S i 3.00 0. 00 0. 00 1.15 100. 0 0.0 0.0 100. 0 9,750. 0| A7 TV S
25. 1 0 ~ 25.2 0 3. 00 1.85 0. 85

e o) LAV R 5 2. 80 1.45 0. 00 0. 50 99.0 0.0 0.0 99. 0 9,849. 0|7 A7 TV S
25.2 0 ~ 25.3 0 2.75 1.90 0. 55

e o) LA R 5 2. 80 1. 45 0. 00 0. 50 101.0 0.0 0.0 101.0 9,950.0|7 27 7 b Hi
25.3 0 ~ 25.4 0 2.75 1.90 0.55

4 ] L 85 2.75 1.55 0. 00 0. 45 97.0 0.0 0.0 97.0| 10,047 0|7 27 7V Pl
25. 4 0 ~ 25.5 0 2. 80 1.30 0. 50
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] VLB B S T 2.75 1.55 0. 00 0.45 101.0 0.0 0.0 101.0] 10, 148. 0|7 A7 7V M=
25.5 0 ~ 25.6 0 2. 80 1.30 0. 50

40 D UL R 5 2.75 2.10 0. 00 0.45|  101.0 0.0 0.0 1010 10, 249, 0|7 A7 7 /v Mk
25.6 0 ~ 25.7 0 2. 80 1. 60 0. 45

) VR A S i 2.75 2.10 0. 00 0. 45 35.0 0.0 15.0 50.0|  10,209.0|7 27 7V L
25.7 0 ~ 25.7 50 2. 80 1. 60 0. 45

e o) LAV R 5 2.75 1. 40 0. 00 0. 50 0.0 0.0 3.0 3.0l 10,302.0|7 27TV S
25.7 50 ~ 25.7 53 2.75 2. 20 0. 50

e o) LA R 5 2.75 2.10 0. 00 0. 45 1.0 0.0 43.0 aa.0| 10,346,017 *7 TV L
25.7 B3 ~ 25.8 0 2. 80 1. 60 0. 45

4 ] LA 85 2.75 1.90 0. 00 195  101.0 0.0 0.0 101.0| 10,447, 0|7 27 7V Pl
25.8 0 ~ 25.9 0 2. 80 2. 00 1.75

4 R B B 2.75 1.90 0. 00 1.95 99. 0 0.0 0.0 99.0| 10,546, 0|7 X7 7 /v Mk
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